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AT 3¢ (General Instructions) -
> et FUTHHT AU Asqr H I G

Examinees are required to answer in their own words as far as practicable.

> Sl Teel H e 19 gl

The total number of questions is 19.

> U HEAT 1 ¥ e HEIT 7 e i FTET 99 &1 5T @ fohegl 9ra yeat &

3¢ 3 dH T aFT # AT gAF YT T AT 2 3 FURT Bl

Question number 1 to Question number 7 are very short answer type

questions. Answer any five of these questions in at most one sentence. Each

question carries 2 marks.

> U HEAT 8 W YT WEAT 14 b ofgulid U 81 Soid ¥ fohegl 5 Ueal & 3N

IVFIH 50 Use] A NTAT| YAk YT T AT 3 3 AeRa gl

Question number 8 to Question number 14 are short answer type questions.

Answer any five of these questions in at most 50 words. Each question carries

3 marks.

> U TEAT 15 & 9T TEAT 19 dah & 3a3T IR g1 5A8 & fohegl oiied 9eal &

3aX 3SR ad 150 Asel H AT TS LT &1 AT 5 37 AU &

Question number 15 to Question number 19 are long answer type questions.

Answer any three of these questions in at most 150 words. Each question

carries 5 marks.
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Section-A Very short answer type questions
frAfaf@a & & fhegl 9ig URaAT & 3R G|
Answer any five from the following questions.

1. 12, 15, 18, 07 T 08 hr AICIHT FIT grof?

Ts- A 3fd TR uRe

What will be the median of 12,15,18,07 and 087

2. 9AY [agesT 8 Fed 872

What is standard deviation?
3. hIAd Faehieh @l TRATNT FIAT

Define Price Index Number.

4. TYATH Hel YT & ITER AR H Faar @ i Ry Hifw|

Define Poverty Line in India on the basis of minimum calorie intake.

5. AR & AR AT Fr Wicdgd &ol T HIg Teh HRUT fATQT|

Mention any one reason to promote girls education in India.

6. ga—ga A F=1T 8?2
What is ‘KUTUMB SHREE’?

7. AT # gUR & IRIFNR WROT A foheT &7l # GuR fHe 0]

In which sectors reforms were done in the initial phase of reforms in China?

Ts-B TR g

Section-B Short answer type questions.
@ & O el 9ra 9241 & 397 ]
Answer any five from the following questions.

8. AFafaf@d 3fTehsr & AfTIHT I AT HfST]

Calculate Median from following data.

X 10 12 14 16 18
f 4 5 6
9. Amafaf@a 3ffesr & oA [Fada it v Hifaw)
Calculate standard deviation from following data.
X 10 12 14 16 18
f 4 5 6 2

10. 9 U (r) & fAfe=T A= 0, 1 dur -1 i sarear S|

Explain
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the different values 0,1 and -1 of coefficient of corelation (r).




1. fAe=faf@d st & T Feffed HIHAT Fashich TIR HIFATY
Construct simple aggregative price index for the following data.

a&d

> A B C D
Goods
YR 379 FrAT (3.)
_ _ 2 5 4 2
base period Price (Rs)
JJAT AT HrAd (3.)
4 6 5 3

Present Period Price (Rs)
12. ARA AfAGAT AIR0T & faT TER & SanrT 39ars 75 Afaar & A\ & fof@u|
Write the names of policies adopted by the government to eradicate poverty in India?
13.f58 <afdd & faw wF & gRIeT 9fN&ToT T 3TaeTshar F#4r gidr 87
Why is On-the-job training needed for a person?

14.[ATANOT & T & FT H AET UTeld & Hged W dfarea feoqol @)

Write a short note on fisheries as a source of diversification.

@s-C &Y 398 9T

Section-C Long answer type questions
fArfaf@a # & el i geat & 39w dfSv)
Answer any three from the following questions.

15. Rafaf@a 31Tesr @ AT AT $I 07T HIifST]

Calculate Median from the following data

e JeTer
_ 0-10 10-20 20-30 30-40
(Class interval)
CIRCIEGI
5 6 7 2
(Frequency)

16.X @41 Y & o GEHaY a[0lieh Hl GRebpiod HITIT|
Calculate the coefficient of corelation between X and Y
X 85 60 55 65 75
Y 60 48 49 50 55
17.fEear aRoT TR $T Hefer MR Wi T sgredr S|
Explain the main causes of poverty.
18.%Y fauureT & 39 a1 Az 87 R A HN fauore gfshar $r sremit w1 faf@e)
What is organic farming? How does it promote sustainable development?
19.9Rd #H $-87T & foIU 3TGRY HRI I SATEAT SATEAT HIfaT|

Explain the functions of environment.
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